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) . | sy | PEHE(H2311.14)
AEME | ] Bn#E PN KEe KERT | ™ sy |AIEIEOE
. - ~ 15 E—FiE
Om 17.74 17.80 17.88 17.88 17.81 17.85 22.13 A 4128
2m 17.67 17.79 17.80 17.81 17.85 17.80 22.13 A 433
5m 17.71 17.75 17.77 17.79 17.88 17.77 22.14 A 437
10m 18.25 17.68 17.84 18.00 - 17.84 22.21 A 437
B-1m 18.56 18.60 18.15 18.57 17.96 18.44 22.38 A 394
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SREMS | PR Bn#E pit N KEe KRBT | ™ gy AEEOE
i - ~ 15 E—FiE]
Om 3152 31.63 31.68 31.68 31.94 31.66 31.44 0.22
2m 31.52 31.63 31.71 31.70 32.07 31.68 31.46 0.22
5m 31.56 31.63 31.71 31.74 32.13 31.69 31.50 0.19
10m 32.19 31.63 31.77 31.92 - 31.77 3157 0.21
B-1m 32.02 32.24 32.22 32.51 32.15 32.32 31.89 0.43
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: N | sy | PEAR(H2311.14)
SEMS | P Bn#E FeH KEe KRBT | ™ gy |MEEOE
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Om 7.44 7.45 711 7.18 753 7.25 6.86 0.39
2m 7.18 7.10 6.99 7.01 7.30 7.03 6.68 0.35
5m 6.97 6.98 6.92 6.93 7.19 6.94 6.52 0.42
10m 6.75 6.88 6.83 6.86 - 6.86 6.31 0.55
B-1m 6.49 6.54 6.79 6.88 7.05 __6.74 594| 0.80
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&4 KR FEHE (m)
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TKE 12.1 16.1 17.3 17.6 9.9
BEE 5.0 6.1 5.2 5.6 4.1
TR E 50 4.2 3.9 3.9 2.9
x5 TS5k (cells/ml)
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H—FaJYRAH—< LIS x\t"%bf MIIRT4F L (RTLERTRE)
Om 2 0 1 1 1,550
=ek= 2m 1 3 4 2 1,410
5m 1 2 2 1 1,010
Om 1 0 3 3 220
BD# 2m 0 1 3 4 80
5m 1 0 1 2 22
Om 1 1 1 5 0
p AN 2m 0 2 0 3 12
5m 0 0 1 0 0
Om 0 3 2 0 12
KE 2m 0 1 5 0 0
5m 0 0 1 0 0
Om 0 1 2 0 0
JKEL AT 2m 0 0 1 1 0
5m 0 0 1 0 0




